1.4 Multiplying Integers

Complete the tables and notice the pattern.

B by . -3 a3 e
S T -3 e SpASEE
o - 2 = 0 [ ~8 " T
~-1 2 = -9 -3 + 0 =
~2 2 = -y -3 .+ -1 =
3 . 2 = 0] (3 « -2 =

What Ao Jow nofice?

e The product of two integers with the same signs is positive
-2(-4) = 8

e The product of two integers with different signs is negative
2(-4) = -8

Find The produc‘r

3 'i'The“pr‘oduc‘r or quotient.
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Is multiplication commutative:
1 . |
i . N =
‘exponent - represents repeated multiplication, 2" in O.0.0.

ie. 52:=5.5
(5%25- 2)
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Try These:
Find the product or quotient.

(10 -3 Ay (2 @12 -7° (13) (-7)?




